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§3. Astrof́ısica relativista
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�$&�?	�$&�&� �W�
-&����	�=� @�
�$�B�$��[�.�6


ε0123 = +1. ��� 8.����� �

^X$A$&�
	��C ]����$,
E� �*3���� -&�� %Z ���<$&�R	�$&� B�$A$&�
	�$A	�$&�<����
 ����� +1, � −1 �
�.3�����!# ��B���-&$&� Z[=�$&B�$&�2363�$,5��4
���$
�43 � 
�
�$���3��XM.�&��/� %$&B����4�?	�$;=��<� Zb$,
� =.	���-,�&!��� Z[�4
 ���� 2Z[�4
 
�$&�
Zb$&-,	
�65��� \$&�R	�$�� �`3 �X!=� \$,
���B�$W	���B<���
3�����-&�� 2Zb����$&�?	�$&�����%�?=.3����X$&��-,3��4
E�� %$&�?	�$ 4! �[^X$�$&�
	��  \����$,
 ���<3�� -&���R	

E��-&-,�&!���

εiklmεiklm = −4! ��� 8.���&���
† <=�?� &!� 8 �$�A�(� �!� 8 F��;C�$� B ���
�����(";&(� F#� &(�*��"$� 8 � � s2 = gab � xa

� xb
�*���-� 8 F#��&�	5�����6"$�)��/������������(�����(";&(� F#� &(���H�*�)���

"$� 8 �+��� 8 ����� �*&!�H���H�I"): ,�����: � 4 9 B ��&!�H�$/����!� &=�
�#��"$�)�
> �
�*�IC�)�	�
� B �A"$�+�
�$����"��5�
��%A�
� �*��"$�I���0��� ���)�=��� B �5"$���5� "$�
&*/��)�
"$� 8 �-/ �$&(� 8 �)� 8 �����5�
�$�?���A�(�):
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9;��� 
�$&�
Zb$&-,	�� �7
���	���-,������$&�)B�$,3C�
���
	�$& ]�FB�$(-&����
�B�$&�<��B<�����A$,3X	�$&������
 εiklm ��$"-&�� %Z ��
�	��
-&�� %�2=��)	�$&������
 �[Z $,
E�d���d3��%$&���4��!#  %$&B����4�?	�$�
E$��<$
�������<$&��Z[=�$&��3���� -&�� %Zb����$&�R	�$&�XB�$�=<� 	�$&������

B�$,@b$&�]-��� @����4
AB�$X�
� �*��� �4�?	�$C$&�
	����; 2���� ]�4� >2Zb��
 B<$��<�.��-,�&!���)$&�
	�$�	�$&������
A$&�;$,3  2���� \��$&�\	��?B��
�
���
	�$& \� -&����
�B�$&�[�4B<� �

�W�
	

���-,	��� \$&�R	�$ �<�4@�3�����B<� � $&�
	�$�	�$&�<����
����\$&�C=��N	�$&������
�� $&�C=�� � ' � � ,
% � � � ' %�"��[$&�CB�$&-,�6
�� ��$
-&�� 2Zb��
�	��)-&�� \�"=�� 	�$&������
  \$&B.�����R	�$Y
���	���-,������$&�%B�$,3 �����
	�$& \�"-&�?��
�B<$&�<��B�� �W$
� -&$,Z�	��F�
��=�$,363����
�?=�$����dZ<=�$&B<$&�"��$,
�
E$&B�=�-,��B<���C� 
���	���-,������$&� �j$&� B�$&-,�6
 �[
�$��<$
� ������$&� �E�

�`3 Z�
���B�=�-,	�� εiklmεprst 0���
� \� =�� 	�$&������
 �h5*$,
�B<��B�$,
E� �`B�$ 
E��� �*��T�� � ��-&���?	

E��-&-,�&!���\B<$ =<���C�
 \��� Z[�4
�$&�WB�$X!# ��B.��-&$&� B<��	�$&�<����
�$&� B�$ 
E��� �*��G ��8��*��> M �j=�� 	�$&������
 B�$ 
E��� �*�C-&$,
���$&�W=�� $&��-��43��4
 �E�
^�$,@<��B��%� $&�
	�� ��3���� -&�� %Zb����$&�R	�$&��B�$�$&�
	����A	�$&�<����
�$&� B<$,@ $&�"��$,
AZ�
���Zb��
�-,�����<�43�$&�C� Z�
���B�=�-,	���� B<$
δi

k �R>R� �?=�$X$&� $,3�!=�����-&� 	�$&�<����
;5*$,
�B<��B�$,
�� -&=.>R���A-&�� 2Zb����$&�?	�$&�;�����]3����  %���� \��� $&�%	���B�� �
���
	�$& ]�
B�$�
�$,0�$,
�$&��-,���?� � �2$&� -&�� %Z�36��-���B��] %���
	

E�4
 ��=�$

εiklmεpklm = −3! δi
p, εiklmεprlm = −2! B�$,	

[
δi

p δi
r

δk
r δk

p

]
,

εiklmεprsm = −1! B�$,	




δi
p δi

r δi
s

δk
p δk

r δk
s

δl
p δl

r δl
s


 , εiklmεprst = −0! B<$,	




δi
p δi

r δi
s δi

t

δk
p δk

r δk
s δk

t

δl
p δl

r δl
s δl

t

δm
p δm

r δm
s δm

t




.

��� 8.���&/��

�`3 , � � � " � * � ��� � � B<$X=<�\	�$&�<����
 Aik B<$�
 �4���*�2��$&�A$,3bB�$,	�$,
� %���<���R	�$�B�$X3��  ]�4	

�� �X0K��
� ]��B<�
Z ��
 ��=�� -&�� %Z ���<$&�R	�$&�&� �W� -&�� %Z�3�$,	��7�4�[� 3��
�.!# �J-&��� 3��N$&-�� �QT��vG�� $&�
	�$YB�$,	�$,
� %���<���R	�$ $&��	�!�(B<��B��
Z ��


B�$,	 (Aik) = εikmpAi0Ak1Am2Ap3. ��� 8.��� 8 �

^�$�3��  2���� ]�  ]����$,
E� ��3���� $&-&�&� �QT�� � � � �QT��vT��A��$ �*$&��$,
E�436� � ���(
�$&�
Zb$&-,	
�65��4 \$&�R	�$ -&�� \�

εprstAipAkrAlsAmt = −εiklm B<$,	 (Akl) , ��� 8.���&H��
e fhgQi1k m�n o;pq r tvu w�x y�z?t {Q|Ky~}6�
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εiklmεprstAipAkrAlsAmt = 4! B<$,	 (Akl) . ��� 8.���&G��

��� Aik $&�J=�� 	�$&�<����
 
��$����!-��% �����*����+� �d$&�R	�����-&$&�+$&�
	�$ 	�$&������
F> $,3 Z<��$&=�B���	�$&�<����
 A∗ik ≡
1
2
εiklmAlm ��$CB.��-&$ ��=�$������ ,�����# � ' =����d�43 ��	

�� �<^X$X3��  2���� ]�� ]�4�<$,
E� � εiklmAm $&� =��]Z<��$&= �
B<��	�$&������
����?	
���
�� !$,	

���-&�]B�$C
E��� �*�d/ B�=<�43D�43b5*$&-,	���
 Ai ���`3bZ�
E�?B�=<-,	�� AikA∗

ik $&�A$,5���B�$&�?	�$& %$&�?	�$
=<� Z<��$&=�B<�?$&��-��43��4
��

�`3 ����� � " %���.�" �
,�* � � � �dB�$�=��)$&��-�� 3��4
 ξ ��$�B�$��<�<$�-&�� %�2$,3 -&=<�4	

����R5*$&-,	���


∂ξ/∂xi =

(
1

c

∂ξ

∂t
, ∇ξ

)
. ��� 8.����� �

� � B.�60�$,
�$&��-,���43WB�$�=��)$&��-�� 3��4
CB ξ

B ξ =
∂ξ

∂xi
B xi, ��� 8.���&T��

$&� 	��� @���!$&�"=��Y$&��-��43��4
�>R� ��=�$�$&�;3�� -&���?	

E��-&-,�&!���NB�$XB����;5*$&-,	���
�$&��� �`3 B.�65*$,
��*$&�?	�$�B�$,3 5*$&-,	���
 Ai

��$�B�$��<��$�-&�� \� ∂Ai/∂xi† �
�W�d$,3.$&�
Z[��-,�����W=�-,36��B.������� B�$ 	

�$&�WB.�� %$&�<�
������$&�W=����XZ<=<$&B�$ ���R	�$���
E�4
 ��3��X3�� 
	�*��B�$ =<�<� -&=�
�5�� �

�43W
�$&B<$&B���
�B�$d=�� !�4
�$��\>NB�$&�?	

�� B�$d=<�N5*��3�=< %$&�b� � � �*$&�<$,
E�436� � ��-,�&!��� $&�J$,3 $&��Z[��-,���"B�$ -&=<�4	

��
B��� %$&���
�����<$&��-&�� \�d3�� ��$& \��� B�$��<����B�� �<���
	��2� ����
 � ��$�363�$,5��%� -��4@b�2B�$C3��d�
� �*=���$&�R	�$  \����$,
 �

✞ � � � �-.�" ��# ' %���"
� ��� � ����" ��� � � ��# ��� � � " %�� � ' � � ��*-%?� ➜ �W� $&�
	�$]-������N$,3;$,3�$& %$&�?	��JB�$
���?	�$���
E��-,�&!���J$&� $,3 $,3�$& %$&�?	��\B�$�3h!# �<$�� ��=�$�$&��$,3 5*$&-,	���
XB xi �

✞ � � � �-.�" ��#�' %���"
�+� � � ' � � � " � ��* � , � ,
%�' ,�*�� � � ' *-%�� � ' � � ��# ����� � " %�� � ' � � ��*-%?� ➜ _ �4
E�
@[=���-��4
X$,3`$,3�$& %$&�?	��YB�$ ���R	�$���
E��-,�&!���+$&�N$&�
	�$ -������]$&� �� %Z ��
�	��4�?	�$ ��@<��$,
�5��4
X3�� ��=�$ ��=�-&$&B�$ $&�N$,3
$&��Z[��-,��� �W=�-,36��B����4�<�]B<$�	

�$&��B.�� \$&���
������$&��� �W�N$&�
	�$�$&�
Z[��-,���%3�� Z�
���>*$&-&-,�&!���JB<$,3�!�4
�$�� ��=�$��<��-&$�$,3
Z � 
 � 3�$,3��
��
 �4 \��0���
� ]�4B<�CZ ��
W3���� 5*$&-,	���
�$&� B r >]B r ′ $&�23���� Z�3�������� -&�?��
�B<$&�<��B���� xαxβ $&�
	 !��B<��B<�
Zb��
dB xα B x ′

β − B xβ B x ′
α �W^X$\3��" %���� \�" \����$,
E� �W$&� $,3A-&=<�4	

����?$&�
Z[��-,��� $,3;$,3�$& \$&�R	��aB�$ !�4
�$��

$&��	�!�YB[�4B<�\Zb��
�$,3W	�$&������
����?	
���
�� !$,	

���-&�7B fik = B xi B x ′k − B xk B x ′i � � ����-&�� 2Zb����$&�?	�$&��B�$ $&�
	�$
	�$&�<����
������J3�����Z<
���>*$&-&-,������$&�dB<$,3 $,3�$& %$&�?	��"B�$ !�4
�$��]$&�F-���B<�Y=��<� B�$ 3�����Z�3�������� -&�?��
�B<$&�<��B����&�
� ���"$& @[�4
��*� �<$&�N$,3 	

�$&� �?$&�
Z �4-,��� �b=��<�d���2=.	
�636� � �%$,3 	�$&������
XB fαβ = B xα B x ′β − B xβ B x ′α -&�� %�
$,3�$& \$&�R	��JB<$%���?	�$���
E��-,�&!��� � �
���<�($,3 5*$&-,	���
2B fα �?=�$Y$&� B�=<�43�� $&�
	�$]	�$&������
dB fα = 1

2
εαβγ B fβγ �

† � � 	)�����$&!��������� �
�(�������I� �*��� 8�B &(� �?���-"$� 8�B �5�
�����(��� "$�I/5��&(���)���(���-������"$�#� �*&(��� � B �$&!�)�
�)& , ∂/∂xi 9;:�� � &!��&!���
�A"��)�*���5�
���0�*� �#� F#������� ���-���$&(��/5�5�
�-"$�)� &(��� B �I";�(� ������"$� 8�B �5�
�����(�-"$�)���*&!�I/5��&(���)���(�5: � � &!����� �(� "��)�*� �$�E� B �;&!�5�
��&
�
���
� > �;&(���#"$���5";�IC�)� ��� ∂/∂xi = (∂/c∂t, −∇) .
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�C$&�� !$,	

���-��� %$&�?	�$�� $&�
	�$ $&� =��"5*$&-,	���
�����
� \�43`� 3 $,3�$& %$&�?	��YB�$���=.Zb$,
 �[-,��$�$�� �*=[� 3`$&�( \���*�.�6	�=�B
� 3A!�4
�$��CB<$ $,3[$,3�$& %$&�?	�� � �W�2$,3�-&=[� 	

E���?$&�
Z[��-,��� �<��$&�WZb���
�6@�3�$�-&������	

�=.�6
 $&�
	�$;5*$&-,	���
��?�
���2$& @[�4
��*�
=����dZ<=<$&B�$�-&�����
	

E=.�6
�$,3 	�$&������
�B<=<�43DB f∗ik �43 	�$&������
XB fik

B f∗ik =
1

2
εiklm B flm. ��� 8.���&S��

^�$;3��C %���� \�X ]�4�<$,
E� �*$&�
	�$A	�$&������
 B�$&��-,
��6@b$��C=��%$,3�$& %$&�?	���B�$Y!�4
�$��X� �*=<�43 > �<��
� \�43<�43<$,3�$& %$&�?	��
B�$�3�� ��=.Zb$,
 �[-,��$�B fik � �W�
	�� !=�36	
�� %�%$&��-,3��4
��2>R� ��=�$�B fik B f∗ik = 0 �

✞ � � � �-.�" ��# ' %���" � ��� � �
* � � "�' � � � " �
��* � , � � "
� ' ,�*�� � � ' *-%�� � '�� ➜ �`3`5*��3�=� \$&�FB�$,3WZ[�4
 �

� 3�$,3�$,ZD!# Zb$&B�� �?=<$ 0���
� \����	

�$&�D5*$&-,	���
E$&�WB r, B r ′, B r ′′ $&�
	 !��B<��B�� Zb��
 ( B r ∧ B r ′) �EB r ′′ � ��=�$ Z<=�$&B�$
$&��-,
��6@��6
���$�-&�� %�

B<$,	



B xα B x ′

α B x ′′
α

B xβ B x ′
β B x ′′

β

B xγ B x ′
γ B x ′′

γ


 ≡ B Sαβγ. ��� 8.�v��M��

���;� ����
 �)Zb$&������ \��� $&� $&��	�$\5*��3�=< %$&�L-&�� \� ! ' %(��*-. ���"� $&� =�� $&�
Z �4-,���J-&=[� 	

E���?B.�� %$&���������<�43 �
$&�R	�����-&$&�)Z ��B�$& \���\B�$&-,�6
 ��=�$N3��FZ�
E��>*$&-&-,�&!��� B<$,3�Z[�4
E�43�$,3�$,Z !# Zb$&B�� �?$&�YB�$&-,�6
 �A$,3 � área � B�$N3��
�.�6Zb$,
���=.Zb$,
 �<-,��$ � �*$&��$,
E��B<�+Zb��
 3����)-&=<�4	

����R5*$&-,	���
�$&�7B xi, B x ′′i, > B x ′′i $&��	�!� B[�4B[�aZb��
 3����
B�$,	�$,
� 2���[�4�?	�$&�

B�$,	



B xi B x ′i B x ′′i

B xk B x ′k B x ′′k

B xl B x ′l B x ′′l


 ≡ B Sikl. ��� 8.�v�.� �

�W� -&���R5*$&�.��$&�?	�$(=.	
�636� � �4
%-&�� %�($,3�$& %$&�?	��JB�$\���R	�$���
 �4-,�&!��� ����@�
E$%3�� �.�6Zb$,
���=.Zb$,
 �[-,��$\$,3A-&=<�4	

����
5*$&-,	���
XB Si B�=<�43 �43 	�$&������
�B Siklm B<��B��dZb��


B Si = −
1

6
εiklm B Sklm, B Sklm = εpklm B Sn. ��� 8.�v�����

�C$&�� !$,	

���-��� %$&�?	�$�B Si $&� =��\-&=[� 	

E���R5*$&-,	���
 � �*=<�43 $&�] \���*�.�6	�=�B ��3���� � �+
+*+
�! � B�$,3 $,3�$& \$&�R	��dB<$
�.�6Zb$,
���=.Zb$,
 �<-,��$%>J����
� \�43 �43  %���� %� � ^�$23��YB�$��<�.��-,�&!���L���?	�$,
�����
 ��$2�
� �*=�$ �?=�$\B S0 = B S123 =

B x B y B z � �W�L��	

E���dZ � 3��4@�
 �4� � $&�
	�$)$&�%$,3 $,3�$& %$&�?	��aB�$Y5*��3�=< %$&� B V $&�L$,3�	

E$&� �?$&�
Z[��-,��� � �W�
	�$
5*��3�=� %$&�+$&� 	l=<�
	��� %$&�?	�$d3��]Z�
�� >*$&-&-,�&!��� B<$,3 $,3�$& %$&�?	��"B�$ 3�� �.�6Zb$,
���=.Zb$,
 �<-,��$2$&�J-&=�$&��	
�&!���+$&�F$,3
�.�6Zb$,
�Z�3������ x0 = -&�����
	��

✞ � � � �-.�" ��#�' %���"
� � � ��%�# � � � � , � ����� � " % ,�*�� � � ' *-%�� � '�� ➜ �`5���B�$&�?	�$& %$&�?	�$C$,3<$,3�$& %$&�?	��
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B<$����R	�$���
 �4-,�&!���J$&��	�!�%B<��B��dZb��


B Ω ≡ B x0 B x1 B x2 B x3 = c B t B �
. ��� 8.�v��/��

� � 04!��-,�63b5*$,
 ��=�$C$&�
	�$X$,3�$& %$&�?	��d$&�;=��\$&��-�� 3��4
�� � ��	
� -&=<�43 ��=.��$,
�	

E������0K��
� ]��-,�&!��� B�$ 3���� 5�� 
���� @<3�$&�
B<$����R	�$���
 �4-,�&!���J�<�dZ�
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§16. Introducción
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§17. Ecuación de movimiento en un campo electromagnético.
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E� Z[�4
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Aq −→ Aq −
∂f

∂xq
, �����?���&���

$&�)3��d��-&-,�&!���7B<��B<� Zb��
�3��d$&-�� �����?��� � $&�R	�����-&$&�X3��d��-&-,�&!���7-��� @<���dB�$�3��d��� �*=.��$&�R	�$  \����$,
 �

S −→ S +
e

c

∫b

a

∂f

∂xk
B xk = S +

e

c

∫b

a

B f. �����?���&/��
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�� \�"	?!$,
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����4
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 �4�XZ[�43��4@�
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�636� � ����B��]3�� $&-�� �����?�v��� ��3��d$&-�� �����?���&��� 	��� \� 3�� 0���
� ]�

A + gradφ −→ A, φ −
1

c

∂f

∂t
−→ φ. �����?��� 8 �

§18. Tensor electromagnético

^�$,
��65*$& %���A� ����
E�C3���$&-&=[�4-,�&!���YB�$� %� 5?�� %��$&�R	�� �j-&�� %��3���$&-�� �����?�vG�� Zb$,
���$&�20���
� ]��B<$ -&=<�4	

��
B��� %$&���
�����<$&�&� _ �4
E�d$&�
	��2$&�� \����-&���?5*$&�.��$&�?	�$ 5��4
����4
CB.�6
�$&-,	��� %$&�?	�$�3��%�4-&-,�&!���(B�$�3��2$&-�� �����?��� �

δS = δ

∫b

a

{
−mc B s −

e

c
Aq B xq

}
= 0. ���&T���� �

	 	
�636� � ����B��Y$,3 ��$&- ���%B<$ �?=<$�B s2 = B xk B xk ��$���@�	
��$&��$ B�$�$&�
	�� $&-&=<��-,�&!���

δS = −

∫b

a

{
mcuk δ B xk +

e

c
Aq B δxq +

e

c
δAk B xk

}
= 0,

B<����B�$ um = B xm/ B s $&�A3�� -&=<�4	

����R5*$,3���-,��B<��Bb�DPj�?	�$���
E����B��%3���� B�����Z�
��� %$,
E���;	R!$,
E 2�������XB�$�$&�
	��
$&-&=[�4-,�&!���(Zb��
�Z[�4
�	�$&����$���@�	
��$&�<$

∫b

a

{

mc
B uk

B s B s δ B xk +
e

c
B Aq B δxq −

e

c
δAk B xk

}

−
{(

mcuk +
e

c
Ak

)
δxk

}b

a
= 0. ���&T��v���

�W3���$��*=��<B��J	R!$,
� 2���<�aB�$,3�3��4B<�F� � ��=.��$,
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(∂Ak/∂xm) B xm $&�?	�����-&$&�X3�� $&-�� ���&T��v��� Z<=�$&B�$�$&��-,
��6@��6
���$ -&�� %�
∫b

a

{

mc
B uk

B s −
e

c

(
∂Ak

∂xm
−

∂Am

∂xk

)
uk

}

B s δxm = 0.

^X$,@���B<�\� 3��d�4
�@��6	

E�4
���$&B[�4B7B�$ δxm $&�"3�� 5��4
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mc
B uk

B s =
e

c
Fkmum, ���&T��v/��

$&�]B<����B�$C$,3 � � � ' %�" ��# ��� � " % � ��.�� �� � *�� %\� � � � ' %�" , ��� ��" �
,
���"B�$�
E��� �*� B��������R	
������ +!$,	

���-&� Fkl

$&�
	 !�dB�$��<�.��B<�2Zb��


Fik =
∂Ak

∂xi
−

∂Ai

∂xk
. ���&T�� 8 �

� � $&-&=<��-,�&!���7B�$� %� 5?�� %��$&�R	��]B�$�=<�<� Z[�4
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E�+ \�?B�� � 3��+$&-�� ���&T��v/��Y$&�]3��F$&-&=<��-,�&!��� B<$ � ��
E$&�R	��
$&�F-&=<�4	

��)B.�� \$&���
������$&��� � =���-&�� 2Zb����$&�?	�$&��$&�
Z[��-,���43�$&� 363�$,5���� $
���4-,	��� \$&�R	�$Y�]3��Y$&-�� �����?�vG��&� � �
-&�� 2Zb����$&�?	�$�	�$& 2Zb��
E�43b�� 2Z<36��-�� �?=<$C3���
 ��� !��� B�$�-��� @<���2B�$C3�� $&��$,
��.!# �d-,��� !$,	
��-�� � E � ��� = γmc

2 �
�h� $��*3��X$&��$,
��.!# ��-,��� !$,	
��-���-&���R	
��$&��$�3��X$&��$,
��.!# ��$&� 
E$,Z ������ \��� 3��C$&��$,
��.!# ��-,��� !$,	
��-�� B�$A=��<� Z[�4
�	&!# -&=.3��
�?-,0O�<$&-�� ���&H��vH�� � -&���"
�$&�
Zb$&-,	��\�43 	
��$& %Z �%$&�
	 !�2B<��B<� Zb��
 †

B E � ���
B t = v �

B p
B t = eE � v . ���&T��vH��

	 	
�636� � ����B��Y3��%B�$��<�.��-,�&!���aB�$,3 	�$&�<����
�$,3�$&-,	

��� \���*� !$,	
��-&�(B<��B<�dZb��
 3��%$&-�� ���&T�� 8 �C$&��0 !��-,�63W5*$,
����<-��4

�?=�$

Fik =




0 Ex Ey Ez

−Ex 0 −Bz By

−Ey Bz 0 −Bx

−Ez −By Bx 0




, Fik =




0 −Ex −Ey −Ez

Ex 0 −Bz By

Ey Bz 0 −Bx

Ez −By Bx 0




. ���&T��vG��

� ��� -����?	
��B<��B�$&�

FikFik = ���?5 εiklmFikFlm = ���R5 , ���&T�� � �

0K��
� ]���J=��F$&��-��43��4
�>7=��7Z<��$&=<B��?$&��-�� 3��4
 
�$&�
Zb$&-,	
�65��4 \$&�R	�$ ��=�$d�����J���?5��4
������?	�$&�d�4�?	�$2	

 �4�<�
0K��
 �
 \��-,������$&�]B�$ � ��
�$&�?	���� 	 	
�636� � ����B��+3��JB�$��<����-,�&!��� B�$,3�	�$&������
]$,3�$&-,	

��� \���*� !$,	
��-&�L$&-�� ���&T�� 8 �2> 3��
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���-&�Y>] ]� �*� !$,	
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† � � �!��&(���?�)"$��C�5� B ���I��� "��)��"$������&(�*�'�
� &(�I";�!� 8 �����(�H�
�(�������I�)���
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B2 − E2 = ���?5 , E � B = ���R5 . ���&T��vT��


E$&�
Zb$&-,	
�65��� %$&�?	�$��

§19. Ecuaciones del campo electromagnético

	 	
�636� � ����B��]3�� B�$��[�.��-,�&!���7B�$,3D	�$&������
�B�$ ���4
E��B<�&>"B<��B<� Zb��
�3�� $&-�� ���&T�� 8 ��$&� -,3��4
�� �?=�$ †

εiklm ∂Flm

∂xk
= 0. ���&S��v���

� �4��-&=<�4	

��2$&-&=<��-,������$&� ��=�$��4Z[�4
�$&-&$&�($&� 3��d$&-�� ���&S��v��� 0���
� \��� $,3 Z�
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 Z[�4
 B�$�3���� $&-&=[�4-,�����<$&�
B<$ ')��� � $,363

divB = 0, ���&S��v/��

curlE +
1

c

∂B

∂t
= 0. ���&S�� 8 �

� �A$&-�� ���&S��v/�� -&��
�
�$&�
Zb����B<$ �;3���-&�� 2Zb����$&�?	�$ 	�$& %Zb��
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�
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S = S � + S ��� + S � . ���&S��vH��
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�
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B.�65 E = 4πρ, ���&S��v��M��

curlB −
1

c

∂E
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Caṕıtulo IV

Hidrodinámica Relativista

§20. Tensor de enerǵıa–momento
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∫

Λ

(
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∂xi
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1

c
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Λ B Ω, �Q��M���� �
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��B<��B�$&� q ��=�$ B�$&��-,
��6@ $&�J$,3 $&��	��4B<� B�$,3 �
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1
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∂xk
.

�Q��M�� 8 �

^�$�$&�
	��  \����$,
E� �<���DB�$��<�.�� \���

T k
i =

∂Λ

∂q,k
q,i −Λδk

i . �Q��M��vH��

$&�R	�����-&$&� †

∂Tk
i

∂xk
= 0. �Q��M��vG��

� ��$&-�� �Q��M��vG�� $&� $,3b$��?=��65��43�$&�?	�$ ��=��[��$&-&=<��-,�&!���)B�$X %� 5?�� %��$&�R	�� � �W�]$,3 -��4��� B<$ $&�
	��4
AB�$&��-,
����
@���$&��B��2=<� -��4 %Zb� ��$&�
	��  2���� ]������� B<� 3��4� $&-&=<��-,������$&� ��=�$�B<$&��-,
��6@b$&�"�43 -��� 2Zb�d-&�� %� 0�=���-,�&!���
B�$�3���� -&����
�B�$&�<��B<��� xi �

Pj�?	�$���
�$& %��� ���<��
E��3���$&-�� �Q��M��vG��W����@�
�$;$,3 5*��3�=� %$&� Ω B�$,3�-&=<�4	

����?$&�
Z �4-,��� �?=<$A$&� $&�<-�� Z[��=.3���B<�
Z ��
 3����.�6Zb$,
���=.Zb$,
 �<-,��$ S

† � � �
� B �A"$�H����FG�)&(���5�*� 8 �5� �*&!� &=%��
� �����(�$���*�)& T ik = Tki @5�$� �
�I"$� &I@)��� �����(���
�*�)&6�*� 8 C�$�*&(��"$�
: � �0��� 8 �)� �*&!�5"$��C�5�
�*&!�)�
��"$���5�#���E�*�'F#�)�(�����D%��
�H��� �(���
�*�)& T ik ���-�$� ��C� �
� �������
� ��� 8 �)���;&!� C���
�?"��A@ B �������*� ���$� �(�'�(�����*��&'�*�H��� �*� 8 �
��� "������(�?�
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∫
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B S(A)

B S(B)

x0 (B) = -&�����
	 (B)

x0 (A) = -&�����
	 (A)

Figura IV.1:
� � � � �*��������
��� � ��� � ��� ��� � � � ��� � � � 
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§24 COSMOLOGÍA NEWTONIANA 107
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∂v

∂t
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1

ρ
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g = −
4

3
πGρr. �Q��8.�vT��

� =��
	
�6	�=.>*$&�<B��C$,3R5�� 3���
WB�$ f $&� 3��A$&-�� �Q��8.� � � >�=.	
�636� �4�4�<B��X3��A$&-�� �Q��8.�vH�� ��$ ��@�	
��$&�<$ 3�� � ����� � ��* �%��
, � � % ��*�� * � � � % , ��# � � *�� � "�' % �

�
RR2 = −

4

3
πGρ(t0) = −C �Q��8.�vS��

B<����B�$ C $&��=��<�\-&�����
	����R	�$%Zb���
�6	
�65��?�`^�$,@<��B��"� �?=�$dB / B t = �R B / B R � 3��Y$&-�� �Q��8.�vS��CZ[=�$&B�$ ���?	�$ �
��
 � 
E��$�Z[�4
E� ��@�	�$&��$,


1

2
�R2 +

C

R
= −

1

2
κ. �Q��8.���&M��

e4fhgjilk m�n o;pqsrKtvu w�x y�zRtv{Q|Ky~}~�
< � tvu w�x y���� �v� uvy �v����� � {j��� � �4� >



110 IV HIDRODINÁMICA RELATIVISTA
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t → ∞

✞
� '�*�3�
 ��'�*+
 #���!�� ��� 3�
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	�.!# �d	���	�� 3 B�$,3 =��.�65*$,
����2$&�A��$��R�4	
�65��d> R → 0
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E��� Z � 3��4@�
 �4� �`$,3
=��.�65*$,
����\��$C
E$&-&��3�� Z[���2B�$&��Z<= !$&��B<$�=��"B�$,	�$,
E 2���<��B��%	
��$& 2Zb� t? �

Tarea 7

7 z
8�� �&!�')��	 32�;	�
1�+� ')
���������(����%(��3���% ���&�$��� ����	>' � � 32��* !5�2#$�+��6 �Q��8.�vS�� �&� �+��%(#�	������+#A
+*+
 	���! �+
�!5��!
�&�(	���! ��')� 7 
 8 	�
 � ' *�3�
 ��'�*�
 �&! ���-. 
 ��� 3�
�# 7 � 8 	�
 � ' *�3�
 ��'�*�
 �&!1�+��*+� � 7 � 8 	�
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§26. Enerǵıa de amarre gravitacional
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† ���E�)&�%��=C�+�*�����+����� 8 � ���
�$&�	
C� � ���-� 8 ��&*&(� �E9A� 8+B ��� 8 �����(� B ��&!%������$�'�?� ���
�$&�	
C� � ���I"$�$�(��&(��� B ��&!� �����$/5��&0� ���
B ��&*�IC� "$�
�?�-��� 8 �)�(� m �����(�
� ����� B �5�*��"$��C�5� r �#��� �!�-��� �#�
���(��: � ��"���� �
� �)�*&(� 8 �A���
@G�����?�-�$���$&�	
C� � %���� 8 ���A�(�����
�
� 8 � &*&!�5���+�+��� B ��&*�IC� "$�����+��� 8 �)�(� m � �?�+�
��� �!�)��"$�?� r �*��F�&(����� "�� 8+B ��	)&!��/����!�)"$���)�#��� φ :

‡ � ��&!� �*�$& � �
�5";�(�)��@E�$�="�� 8�B � φ ∝ 1/r "$�#���#��� r → ∞ � ��� ��� 8 ��� 8 � �.C� 8 � �(� | 	)&!�)� φ| ∝ r−2 � �!� 8 F#�;C���
| � a| ∝ r2 :�<=�)� ��� �(�-�����$/����
�����(�H���+�A�����?�
�5� �
�H���+���A�(� 	)&!�)� ��� ���+��"): , D���: � 9I:
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δW = −
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8πG
δ

(∫

|∇φ|2 B V
)

. �Q��G��vH��
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��.!# �
∫

δW � $&�?	�����-&$&����@�	�$&�<$& %���X3�� � � �
� " . �� � , � � � ��"�"
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1

8πG

∫

|∇φ|2 B �
= −

1

8πG

{∫

φ∇φ ��B a −

∫

φ∇2φ B � }

=
1

2

∫

ρ(r)φ(r) B �
, �Q��G��vG��
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§27. Ecuaciones de estructura estelar

�`3D5��43���
X��=� !$,
���-&�%B�$,3 	
��$& 2Zb�2B�$�-&��3��4Z<���%B�$�3�� $&-�� �Q��H��vH���$&�
	 !�dB[�4B<�2Zb��


t � ��� ≈ 27

(
R
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)3/2(
M
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)−1/2

 2��� , �Q�*�?��� �

B�����B�$�$,3 ��=�@ !# ��B.��-&$ � ��$ 
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�$ ��3���� 5��43���
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† � � �?� B ��� C� "$����� ������� 	)���$&*&!� �
���?��� 	 ���?�����?���0�*�-��F#�*�$&*/5� ��� �
��� �*&(��"�"$��C�5� ����� B ���)�
�$�!� � ���
�$&!��� : � � ���
�$&�	
C� �
8 C� �
� 8 � �
�I"$���(� &(�?� B ��&!� ��� 	)&!��& �*� �
�$� �*&(�#"�"$��C�5� �(���!�)�0���(�������I�)���
� ��� ��� �*&(������� �
�D�?� 8 �
�$&*�(�D��� ��C� ���)��� B ��& ���
��"): , D���: �59I: � 8 �)�
�$&!�H�
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�$&�	
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�
�?";�5��:
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�0�
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FG� 8 F#� �A�#";���I� &�	5�$���$&!�������$&�	
C� ��� %���� /5��&IC� �)� �����*&(� � 4 , ����&(�)� ��� 8 � 9 � F 4 , @ �(��&I@������ � B ���)�*�IC�)�-�A�#"$���I� & 8 �)� /
���5�������!�
&(���)�����I�)��� B ��&'���-�����(�5�#";���H������C�5� 9��I/��;C�;�(�?"��59 8 �
	 � �(�5���$��: � ��FG� 8 F�� @ �(��&I@��
���*�A
�#�)��� B �)&0���)� 9��I/��;C�$�(�?";�5��@ B �A� C� �
���?"$�)������&�� ���)� �!� � 4)4 8 �
	5���(�)������� : � � �!� FG� 8 F�� ��� > �
� ";&(�I�)��� B � &!� �*� ���*� ��� 	5���;&*&!��@ �*���
� B ��&!� �
� 8 �5� �*&!� &����
B �A���$&IC� � �
�'����������C�5�19��I/��;C�$�(��"��+�)�G&(��� �(� �
�0�?� ��� 8 �)�
�?�
�5�D, B &(���#"$� B ��� 8 �$�A�(�'�+���5� � � �!�)�
�)� �������
�)���
� � 8 C�$&(��"�� 9
���
&!���A�(� ��� 	5���;&*&!� >�& C� �A:"9�� ��� �#�
� �
� 8 �
	 � ��C�5� ,+: �;9�"$� 8 � ��� �����;&�	
C� �D� � B ���)�*��/5� �I%���� / �����$�A�(� � ��� � � B ���5�*��C�5�
��� 106 �(�5���$�?�)���)� ����@ �>@ , @ &(� < ��� �*&(� < @E�5�����$����9 � %���� �*� ��� FG�$&!� ��� � 454�� ��� �����	�*�5���	� � B ���)�*�IC�)� ��� 8 �)�
�$&!�
����� �!������C�)������: � ��&!���*�$& 8 C�)� B &(�I"$���*�5� �): � = � 4�� "��)� = � . D × � 4
	�� B = � . D��$B�, B �$�!��12�)�������!9;:
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��# � * ��� � % , � � ��# ��* � > $&�
	 !�dB<��B��%Zb��


t � � � �
��� ≈ GM2

RL
≈ 3 × 107

(
M

M�

)2(
R

R�

)−1(
L

L�

)−1
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����� . �Q�*�?�v���

_ �4
E�+$,3X����3 � t � ��� � t � � � �
��� >LZb��
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	��4
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�-��+B�$(=�� $���=.�636�6@�
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����B.
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E�a$,36�� 2���<�4
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	��a$&-&=<��-,�&!���s3��
 ]�����
�� 2Z<3�$�$&��	��� ]�4
 $,3 B.�65*$,
	�*$&�R	�$ B�$��� @b����3���B����XB�$�3�� � �*=[� 3�B[�4B(>)=.	
�636� �4� 
X3��d$&-&=<��-,�&!���JB�$
_ ����������� � $&- �Q��G��v/�� �.Z[�4
E� $,3 -��� %Z ����
 �,5?�6	���-,�����<�43h�`^�$�$&��	��d \����$,
E� ��$���@�	
��$&��$ ��=�$

∇ �
(

1

ρ
∇p

)
= −∆φ = −4πGρ. �Q�*�?�v/��

	 	
�636� � ����B�� $,3 �<$&-	��� B�$ ��=�$�3����
�� %$,	

�!# ��$&� 
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1

r2

B
B r

(
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ρ

B P
B r
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= −4πGρ. �Q�*�?� 8 �
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 �7	
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ρ
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Tarea 8� � 	�� ! ' � !5�+� ')�&�0����' ���
	
����
+*+�&% ��!(	�� � '�� !5���+�����)�+� �+��%(� ' � . 
�! Zb��36�6	

�!��Z<��-&� 6.,$�������+� � ')�
' � �+
�% ����� # ��	
� ��* ���#����+� �&� 	�
+! 3�
+*���
���	��&! ����*&% � � ���4�
+% ���+
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 �����+
 � �&! ��
+	 ��')� ! ' �+
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p ∝ ρκ, �Q�*�?� � �
���������C	�
(�+���"!���
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κ
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�+
+!+�

κ = c � /cp
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B
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ξ2 B θ
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ρ ≡ λθn, r ≡ αξ, p = kρ1+1/n

α ≡
{

κ (n + 1)

4πG
λ1/n−1

}1/2
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��$&��$ ��=�$ 3��%-����?	
��B<��B p + Gm2/8πr4 �43�-������ �]��=(5��43���
� !������ \� $&�($,3
-&$&�R	

��\B�$�3�� $&�
	

E$,363��R�b_ ��
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∫
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§28 GENERACIÓN DE REACCIONES NUCLEARES 127

	��� @��E!$&�(����$&�
	��4@�3�$&�&�
9;=<����B�� ��$ ��
�� �����[��=��]-&��3��4Z<��� ��
E�,5��6	���-,�����<�43 �CZ � 
�	
�6
 B�$�=��<����=.@b$ B<$ �R���;B.�60K=<���C3��� ]�,>*��


Z � 
�	�$XB<$�3�� $&��$,
	�.!# � ��
E�,5��6	��4-,�����[� 3W$&�;
E��B.����B<� >\3���Z<
�$&�
�&!���)-&$&�?	

E�43 >%3�� 	�$& %Z $,
 � 	�=�
E����$X$,3�$,5����
�[�4��	�����=�$\��$%B<�Y3�=��R� 
%� 0K=����&!���+	�$,
E %����=�-,3�$��4
�� �`3 $,3�$& \$&�R	��J ]��� �4@<=���B[�4�?	�$Y$&� $,3 =����65*$,
����
� ∼ ��M � �X$&���.��B.
�!�
�*$&�<�)>7Zb��
�3�� 	����R	��N3��]
�$���-&-,�&!��� 	�$,
� %����=�-,3�$��4
d� �?=�$%��$2B<�Y��
�� �*$&� $&���]3��
0�=��
�&!���]B�$ ����B.
�!�
�*$&��� $&� ��$,36��� ��_ �4
E��$&�
	�� ��$A
�$���=.��$,
�$ 	�$& 2Zb$,
E�4	�=.
E��� B<$,3[��
�B�$&�\B�$ �&M � � �?� $&�
	��
	�$& %Zb$,
E�4	�=.
E� $,3 �R�4� ��$C$&��-&=�$&�?	

E�d�436	��4 \$&�R	�$������.� � ��B�� � _ �4
E� $&�
	

�$,363���� -&�� \� $,3 ����3 ��3�� 
�$���-&-,�&!���
 ]���A�� 2Zb��
�	����?	�$�$&�A3�� � �
, � � � � � �

p + p −→ D + e+ + νe

p + D −→ He3 + γ

He3 + He3 −→ He4 + 2p, �Q��T��vG��

��=�$ �*$&�<$,
E�7B�$,3 ��
�B<$&� B�$)��G . G ' $,UVZ ��
\-��4B[� He4 0���
� \��B�� � � �
	��F$���=.�65��43�$J� ∼ 0.007mc
2 �

B<����B�$ m $&�]3��a \�����7���.��-,���43�B<$"3����Y-&=<�4	

��+Z�
���	�����$&� =�	
�636� � ��B����)$&� 3��a-���B�$&�<�?� � �F	����4�FB�$
-��� @����2B<$�3�� $&�<$,
��.!# ���*$&��$,
E��B<� $&� ε ∝ ρT4 �h3�$,> B�$ � ��36	��� ]�4�)Z[�4
E��=<�)-&=�$,
�Zb� ��$���
�� � >]	
��$&��$
=<� 5��43���
CB�$ ∼ �&M − � � � � − � Z[�4
E� $,3D����3h�

IA$���-&-,������$&�W \��� $&��$,
	�D!$,	
��-����W������363�$,5���B<��� ��-��4@ � ���
��$&��B�� $,3 ��*�� #&% � � � �O9A�4
�@�!��� � �A�6	

�!�
�*$&�����
� ��� �*$&��� ��3��] \���C�� 2Zb��
�	����?	�$dZ[�4
E�]$&�
	

�$,363����  \���
�65��4��� �W�F$&�
	�$d-������ 3��\	�� � �]B�$d-��� @����)B�$ 3��
$&�<$,
��.!# �2$&�
Zb$&-�!# �<-�� �*$&��$,
E��B<�d$&�
	 !�dB[�4B[� Z ��
 εCNO ∝ ρT15 �

� � -&������$,
�5���-,�&!��� B�$73�� $&��$,
��.!# � �*$&��$,
E��B<� $&� $,3����R	�$,
�����
7B�$J=��[� $&�
	

�$,363�� B�$,@<��B<�L� ��=��

E$��4-&-,�����<$&�X��=�-,3�$��4
�$&�XZ<=�$&B<$�$&��-,
��6@��6
E��$�-&�� \�

L =

∫

ρε B �
= 4π

∫

ρεr2 B r,

$&�YB����<B�$ L $&� 3���3�=< 2�������
��B[�4B)> ε $&� 3�� $&��$,
��.!# � $&�
Zb$&-�!# �<-�� �j$&��$,
��.!# � Zb��
;=<�.��B<��BYB�$� ]����� �WZb��

=<�.��B<��BYB�$�	
��$& %Z � �?=<$ ��$ �*$&��$,
E��B<$&�R	

�� B�$ 3���$&�
	

�$,363��?���W�
	��+!=.36	
�� \� $&-&=<��-,�&!��� $&� -&�� !=��� \$&�R	�$
$&��-,
��6	��d$&�)0���
� ]� B��60K$,
�$&�<-,��� 3 >Y
�$,Z�
�$&��$&�R	�� 3�� � � "	� � " � ������� ��* �%�� , � � ' � "�� � � ��" � � ' � ��#&��"

B L
B r = 4πr2ρε. �Q��T�� � �

� �Y$&��$,
��.!# � �*$&�<$,
E��B<� $&� $,3 ���R	�$,
�����
 B<$,3 ����3 $&��-��4Z[� B�$,3  2���� \� B�$,@���B��(�]
E��B.����-,�&!��� -&$,
�-�� B�$,3

e4fhgjilk m�n o;pqsrKtvu w�x y�zRtv{Q|Ky~}~�
< � tvu w�x y���� �v� uvy �v����� � {j��� � �4� >



128 V ESTRELLAS

��!=�-,3�$&�2>)� -&���?5*$&-&-,�&!���F$&�)3���� Z[�4
�	�$&�  ]�4� $
��	�$,
��[�4���
� �)-&=[� 
�	�� > !=.36	
�� ]�)$&-&=<��-,�&!���LB�$\$&�
	

�=�-,	�=�
E�)$&�
	�$,3��4
d	
��$&��$ ��=�$%5*$,
d-&��� $,3 	

 �4�<�
Zb��
�	�$\B<$

$&��$,
��.!# �dB�$,3b-&$&�?	

�� �<��-,��� 3�� ��=.Zb$,
 �<-,��$CB�$X3�� $&�
	

�$,363��?� �W��	��d-&��
�
�$&�
Zb����B�$���	

E�����
Zb��
�	��4
�$&��$,
��.!# �
Z ��
)-&���<B�=�-&-,�&!��� �X-&���R5*$&-&-,�&!��� >���� 
E��B.����-,�&!��� B�$73���� Z � 
�	�$&� -&$&�R	

E�43�$&�(B�$7=��<�+$&�
	

�$,363�� �[�4-,���
��="$
� 	�$,
�����
��b^X$�$&�
	���� 0���
� ]�4� B�$�	

E�����
Zb��
�	�$�$&��$,
��D!$,	
��-&� � 3��d-&����B<=�-&-,�&!���(> 3�� 
E��B.����-,�&!���7���%�����
 =�>�B.�60K$,
E$&�R	�$&�&� � � -&����B�=�-&-,�&!��� ��363�$,5���B<�C�4-��4@b��Z<
�����-,�6Z[�43� %$&�?	�$;Zb��
 $,3�$&-,	

����<$&���*-&�����
���
	�$ $&� �?=�$
$,3�$&-,	

�����$&� -&���2$&��$,
��.!# ��� $,3�$,5���B<��� Z<
���5*$&�.��$&�?	�$&�;B�$;
�$���������$&� -��436��$&�R	�$&�;-&��36���
������$&�Y-&���2$,3�$&-,	

E����$&�
B�$A$&��$,
��.!# ��� @ � 	���� ��=�$A��$;$&��-&=�$&�?	

E���\$&� 
E$���������$&� 0K
�!# �����*	

E������ %�6	
��$&��B�� B�$;$&�
	��C \����$,
E��$&��$,
��.!# �
> $,3�$,5��4�<B������&!# 3���	�$& %Zb$,
E�4	�=.
E�?� �W�d$,3.-��4���XB<$ 3�� 
E��B.����-,�&!��� �R����� 3����`0K��	�����$&� 3���� �?=�$;��$ $&��-��4
��R���
B�$�$&��$,
��*$,	
� �4� 
 �j-��43�$&�R	��4
 � 3�����Z � 
�	�$&�  %$&�<��� $&��$,
�� !$,	
��-���� �h0K
�!# �4� �AB�$�3��2$&�
	

�$,363��?�

�`3D-&���?	�$&�.��B��\$&��$,
��D!$,	
��-&�]>]$,3 -��� 2���<�d36�6@�
�$� \$&B.��� �h�h� $��<3�� B.����	��4�<-,���dZ�
��� \$&B.��� ��=�$�
�$&-&��
�
E$
=��<�AZ � 
�	&!# -&=�3��C$&�R	

�$;B����`-&��36���
�����<$&� ��=�-&$&���65���� � B�$ 3����W$,3�$&-,	

�����$&� >����X3���� 0K��	����<$&�W����� 3����`0���-,	���
�$&�
�?=�$XB�$,	�$,
� %���<���]3���$��<-,��$&��-,��� B�$,3 	

E�����
Zb��
�	�$X$&��$,
�� !$,	
��-&� � � ��$&��$,
��.!# � 	R!$,
� 2��-�� B�$ 3���� $,3�$&-,	

E����$&�
� = (3/2)nk � T ��$&�� =�- ���  \�&>*��
 �?=<$ 3��]$&��$,
	�.!# �]	?!$,
� %��-��YB�$ 3�����0���	�����$&� � = � T4 � † � _D��
���	

 �
Z[�4
�	�$�� �
� $,3�-��4 %�����J36�6@�
E$) %$&B.���a$&� ��
E����B�$�� $&�?	�����-&$&�]3����2Z[�4
�	&!# -&=.3���� �j$,3�$&-,	

�����$&�Y�70���	�����$&� �
Z<=�$&B�$&�7
�$&-&��
�
�$,
 ��
E����B�$&��B.����	��4�<-,���4� �DZ[�4
�	
��$&��B<�)B�$&��B�$ 
�$��������<$&��$&�JB�����B<$ 3��\	�$& %Z $,
 � 	�=�
E�%$&�
$,3�$,5���B<� � �<���
	�� 3����`3�= �R�4
�$&� $&� 3����W-&=<�43�$&�W3�� 	�$& 2Zb$,
E�4	�=.
 ��$&�`@[��	���>�B<$ $&��	��  ]�4�<$,
E�A	

E������0K$,
��6
W��=
$&��$,
��.!# � $��<-,��$&�R	�$& \$&�R	�$��[� Zb$&���4
;B�$ ��=�$X�.�<3����;$,3�$&-,	

�����$&�A���<3���� 0K��	����<$&� 	
��$&�<$&� -��4 %������� 36�6@�
�$&�
 %$&B.����� ��
E����B�$&��Z[�4
E�d$,3 -��4���\B�$�$&�
	

�$,363������b$,3 -��� %�����236�6@�
E$  \$&B.���%B�$�3���� 0���	�����$&�C$&� -&���<�
��B�$,
 �
� @<3�$& %$&�?	�$  ]�,>*��
��43 B�$�3����X$,3�$&-,	

E����$&�&� _D��
�$&�
	��d
E� �b!���N$&�X��$&-&$&���4
����]B.����-&=�	
�6
�3����� \$&-��4������ %���
B�$�-&����B�=<-&-,�&!���N>Y
E��B.����-,�&!���(Z[�4
E�d�� @[��� $&�
Zb$&-,��$&��� $,3�$&-,	

�����$&�X>]0K��	�����$&���

� B.�60�$,
�$&��-,����B�$;3��C
E��B.����-,�&!���]> 3��C-&����B�=�-&-,�&!��� � ��=�$������%Z�
���B�=�-,��B<��� Zb��
 ��
E��B.��$&�?	�$&�;B�$A	�$& �
Z $,
 � 	�=�
E� ��3���� -&��
�
���$&�R	�$&� -&���R5*$&-,	
�65����A$&�d=�� �<=.��B�����$ �*$&��$,
E���2����3��4 \$&�R	�$ -&=<����B��C3���� ��
E��B.��$&�?	�$&�

† ����"$���$&!�
��%A�
� B ��&!�'�
� ";���$& B � ���
	�&(�+���H�
�$���*�����5� ��� ���
�$&�	
C� �'&!�5���?�)��� e , �����;&�	
C� � B ��& ���
�?�
�5� ����/��)��� 8 ���#9
�$� ��C�����)��� B �)& �?� ��� � �����=�5� �(� 8 ���

e = � T4
, , D)J�: J59

�$� �
�)�#�
�
� =

4σ

c

= � . F F × � 4 − 	
� B 8 − � � , , D)J�: �59

������� 	 � � � � � ��� � 
�� 
 ��� � ��
�� 
 
�� 
�� 
���� 	�� �� � � �?�+"$�5�
� �!�)���(���
� 9��(� B ���)�A���=�)���(� 8 �)� σ �(���$���H���G/ ������&

σ =
π2k �

60 �h3
c

2
= F . � × � 4 � 7 	6� − � � − �

. , D�J�: � 4 9

e fhgQi1k m�n o;pq r tvu w�x y�z?t {Q|Ky~}6�
< � tvu w�x y���� �v� uvy �v� ��� � {h��� � �4� >
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��$&��$ ��=�$ ∂(ρ � µ)/∂t = ρ∂ � µ/∂t+ � µ∂ρ/∂t = −ρ � ν∂ � µ/∂xν−∂p/∂xµ−

� µ∂(ρ � ν)/∂xν -&���"3��%-&=<�43

∂ρ � µ

∂t
+

∂Πµν

∂xν
= 0, �Q/*�?���&���

$&�"B�����B<$ Πµν $&��$,3 � � � ' %�" , � , � � ' *-,
�
, , � � � � % , � � % � � � � %Y>Y$&�
	 !�2B<��B��dZb��
 †

† � ��&!�H�����(���#���$&����G�*� 	5��� ��"$�5�
���
�����(���
�*�)& Πµν
�����(�
	)&(� 8 �5�����?���I"): , 3 �A: �-D)9 �*��F�&(�'�
� /��)��� 8 ��� � � B ����%A�
� 8 �)�

�$� �(����&(� 8 �-���H�?�+�
� /��$&�	5�$�#"$����@
�)F
�(���������#��� �)��C�
∂

∂t

∫

ρ � µ
��� = −

∫
∂Πµν

∂xν

��� = −	

∫

Πµν
� aν. , 3 �A: � 3 9
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Πµν ≡ ρ � µ � ν + pδµν. �Q/*�?���&H��
� 	

E�X0K��
E \�XB�$���@�	�$&�<$,
 3���$&-�� �Q/*�?��� 8 � $&� =.	
�636� � ����B�� 3���� -&�� %Zb����$&�R	�$&�;$&�
Z �4-,���43�$&�AB�$�3���$&-�� �Q��M��vG��
>Y	��� ]� 
 3���� 3h!#  2�6	�$&� � $���	����.���������C-&=<����B�� c → 0 -&�� %�d��$� =<$&�
	

E���"$&� 3��2$&-�� �Q��/���� �&�

9;=<����B�� 3��a5?����-&������B<��B 	
=�$��R� =�� Z[�4Zb$,3X�� %Zb��
�	����R	�$J$&�s$,3� %� 5?�� %��$&�R	�� B�$(=�� �<=.��B�� $&�
�<$&-&$&���4
����L %��B.���<-��4
)$,3�	�$&������
"B�$ �<=�	
� B�$J %�� \$&�R	�� Πµν �AB<��B�� Zb��
Y3�� $&-�� �Q/*�?���&H���� Zb��
)$,3
	�$&�<����
 Πµν = pδµν + ρ � µ � ν − σ ′

µν = −σµν + ρ � µ � ν �D$&�aB����<B�$ σµν = −pδµν + σ ′
µν $&��$,3

� � � ' %�"), � � '�� � � " � %�'�> σ ′
µν $&�;$,3 	�$&������
AB�$X$&�
0�=�$,
	����� 5�����-&����� ���W�Y��=\0K��
� ]�� \��� �*$&��$,
E�43 ��$&�
	�$

	�$&�<����
�$&�
	 !�dB[�4B<�2Zb��


σ ′
µν = η

(
∂ � µ

∂xν
+

∂ � ν

∂xµ
−

2

3
δµν

∂ � λ

∂xλ

)
+ ζδµν

∂ � µ

∂xµ
, �Q/*�?���&G��

$&� B�����B�$F3����"-&��$��<-,��$&�R	�$&� η > ζ �<� B�$,Zb$&��B�$&� B<$J3�� 5*$,3��?-,��B[�4B � �W�s3�� $&-�� �Q/*�?���&G���� η > ζ


E$,Z�
�$&��$&�?	����]$,3 � %�� � ��* � � � ��, � ��* ' � %�' *-,
�
, �j� ��* ' � %�' *-,
�
, ,�* � �� � *�� � �`>d3�����$��*=���B<��5?����-&������B<��B

E$&�
Zb$&-,	
�65��� %$&�?	�$��

_ �4
E��$&�R	�$&��B<$,
;B<$  \����$,
 �� \��� ���� 2Z�3�$X�C3���5�����-&���
��B<��B ��-&���<�
��B�$,
�$& \��� $,3 �
� �*=.��$&�?	�$�$ 	l$& %Z�3��
B<$ �<=�	
�X=��.��B.�� \$&���
�����<�43h� � =.Zb��� �R�� \��� ��=�$ ��$ 	
��$&��$;=�� �<=.��B��X=��.��B��� %$&���
�����[� 3 ��=�$ ��$  =�$,5*$;$&�
3�� B.�6
�$&-&-,�&!��� ey >dZ ��
 3�� 	����R	�� ��=\5*$,3��?-,��B[�4BN$&�
	 !� B<��B<��Zb��
 v = � ey �

	 	
�636� � ����B��d3���$&-�� �Q/*�?���&H��
>N3��%$&-�� �Q/*�?���&G�����$ 	
��$&��$ ��=�$ $,3 �<=�	
�]B<$  \�� %$&�?	��\	

 �4�<�� 2�6	
��B�� $&�73��]B.�6
E$&-&-,�&!��� ex $&�
	 !�]B<��B��
Zb��


Π = −η
B �

B x . �Q/*�?����� �

� �F$&�
	��Y$&-&=<��-,�&!��� ��$& %����B<$&�
Z�
�$&-,����B��N$,3W	R!$,
E 2����� �?=�$d-&���?	
��$&��$Y�\3��Y��$��*=���B<�]5�����-&���
��B[�4B B�$ �
@<��B��F� ��=�$ -&=<����B<�J$,3 �<=�	
�($&� ���<-&�� 2Z�
�$&���6@�3�$ �jB.�65 � = 0 � 3��N$&-&=[�4-,�&!��� B�$ �W=.3�$,
%��$\
E$&B�=�-&$
� � �?�)�
� ���I%������$&!�
�D��� ���	�I"�:�, 3 �A: � 3 9 &(� B &(���*�����!� �?� �!�)�I� ��� "�� 8 F#��� �
� ��� "$� 8�B �5�
�����(� µ � C���*� 8 � �
��� 8 � 8 �����(�
"$�5���(���
�?�����
�����*&(���
�$��/��5��� 8 ��� ��� "$�)���*���
�$&!�)"$��C�5� :
���I";���(��&(��� 8 �$�A�(�����
�?�)�
�H���$&(�I"����������$� �!�0�I"$���5"$��C�5� ���$FG���*�$&=���
"��)���(�����5� ��� 8 � 8 �����(��%A�
� ��� � � �#�)"$���H��> �
�$&!���'�*&!�I/6C���=�
���?�'�*� B �$& ��";����>?&(�5���(�$&!� B �)&=���
�?�
�5� �
���(��� 8�B �
: ���IC� @A���
"��)���(�����5� Πµν

� aν
��� ��� µ � C���*� 8 �+"$� 8�B �5�
�����(�H�
�$� 8 � 8 �����(��%A�
� ��� � �0�H�*&!��/ C���=�
���G����� 8 �����(���
���*� B �$& �#"$���'� a :

9��G���(";&(� F#� 8 �5��� aν = nν
� a @��
�5���
� n̂ ��� �
� / �I";�(�)&��
��� �!��&(���+�$�	��� ����&(��"�"$��C�5� ����� ����� 8 �����(�-���DC��&(���+� a �����(�5��"$���

��� /���";�(�)&
Πµνnν = pnµ + ρ � µ � νnν. , 3 �A: � ��9

&(� B &(���*�$�A�!� ��� ��� 12� �
� �?� µ� C���*� 8 � "$� 8+B �5���$�A�(� ����� 8 � 8 �����(� B ��&H���
�?�
�5�D�
� C��&(�I�A:�� � ��� �!� 8 �)�
�$&!� ��� �(�����*��&
Πµν

&(� B &(�$�*�����!� ��� µ� C���*� 8 � "$� 8+B �5���$�A�(� ���-��� "������(�?�
�5�D�
� 8 � 8 �$�A�(� %A�
���#� � � B ��&����
�?�
�5� �
���(��� 8�B ��@ B ��&
���������)�	��� C��&(�I� B �$& B ���#���?";������& �)� �*12� xν

:

e4fhgjilk m�n o;pqsrKtvu w�x y�zRtv{Q|Ky~}~�
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�
�� 2Z�3�$& \$&�R	�$ �Y3��)$&-&=<��-,�&!���LB�$ ���,5���$,
 � ��	�� � $&�2Z � 
 � �<=.��B���� >J3���� - !� 3�-&=�3����%��$\�
�� 2Z�36���[-��4� B<$
 \����$,
E� -&�����
��B<$,
E�4@�3�$��

9;�����
��B<$,
�$& %���X���<��
E� =�� �<= 	l�d$&�NB�����B.�� \$&���
������$&� �?=<$ ���6
E�d�436
�$&B�$&B���
CB�$,3D$ 	
$ 0z -&���"=��[�
5*$,3��?-,��B<��B2��� �*=.3��4
 Ω = �ϕ � -&�� \��$,3 �R��� �?=�$ ���6
E���436
�$&B�$&B<��
 B�$ =�����@�	
$,	�� -&���<B�$&������B���0K��
E \����B��
=��LB.����-&�+B�$"��-,
�$&-,�&!���b� �W� $&�
	�$)-������a$,3 	�$&������
\B<$)$&�
0�=�$,
	�����d5�����-&����� $&�
	 !�JB<��B��FZ ��
%3����\B����
Z�
��� %$,
E���;	R!$,
E 2��������B�$,3b3���B��dB�$,
�$&- ���2B�$X3�� $&-�� �Q/*�?���&G���� -&��� µ, ν = 1, 2 � � ����-&����
�B�$&�<��B<���� ]���
� Z<
���Z�����B<���AZ[�4
E��B�$&��-,
��6@��6
�$&��	�$ �<= 	l� �����]-&�?��
EB�$&�<��B<���AZb��3��4
�$&� � r, ϕ � � �?=<$X$&��	�!���Y
�$,3���-,�����<��B<���
-&���F3�����-&����
�B�$&�<��B<��� -��4
�	�$&�
�����<���  %$&B.�����?	�$23�����
�$,3���-,������$&� x = r -&��� ϕ � y = r �
��� ϕ �D^�$%$&�
	��
 \����$,
E� � B<$,@���B�� � ��=�$)3��a5*$,3���-,��B<��B v = eµ B xµ/ B t � $&�R	����<-&$&� � x = � r -&��� θ − � ϕ �
��� ϕ >
� y = � r �
��� ϕ + � ϕ -&��� ϕ � �W�($,3W-������\B<$ =��(B.����-&�YB�$ ��-,
�$&-,�&!���F$&�X-,3�� 
E� ��=�$ ��$�	
��$&�<$d�
�� %$,	

�!# �
� � ���
�� !$,	

���-���� $&� B<$&-,�6
 � 	���B<��� 3���� -����?	
��B<��B�$&� �.��B�
��?B����;!�4 %��-����2��$\5*$&�+� �*=[� 3�$&�2Z[�4
E� -&=<�43 ��=.��$,

!�4���*=.3�� ϕ � _D��
"-&�� \�?B���B<��B $,36� 	
�� \���N$&�?	�����-&$&� ϕ = 0 ��^X$F�
�?=b!# ��$7�
� �*=�$J$&�?	�����-&$&� ��=�$73��
-&�� 2Zb����$&�?	�$)B�$,3A	�$&������
2B<$]$&��0K=�$,
 ���(5?����-&����� σ ′

rϕ = σ ′
ϕr = σ ′

xy|ϕ=0 � �W�
	��J$&�dB�$,@<��B��a� �?=�$
ax(ϕ = 0) = ar > ay(ϕ = 0) = aϕ Z[�4
E�C	���B���5*$&-,	���
 a = axex +ayey = arer +aϕeϕ � 9;���
	��?B��Y$&�
	��]>)>(=.	
�636� � ����B��)3��2
�$���3��\B�$ 3��\-��4B<$&�<� � $,3`$&��0K=�$,
 ���%5�����-&����� σ ′

ϕr �h�h� $��b3��\-��4�?	
��B<��BaB<$
 %�� %$&�?	�� $&�Y3�� B.�6
�$&-&-,�&!��� ϕ Zb��
A=��.��B<��B)B�$(!�4
�$�� Zb��
A=��.��B<��B)B�$X	
��$& %Z � 	

 �4�<�� 2�6	
��B<� ��	

E�,5W!$&�
B�$�=��s!�4
�$�� ��
�	��
�*���<�43W� er B�$,@���B<�2� 3�����0K=�$,
 � ���A5?����-&������� �A$&�
	 !�%B<��B��dZb��


σ ′
xy

∣∣∣∣∣
ϕ=0

= σ ′
ϕr = η

{
∂ � x

∂y
+

∂ � y

∂x

} ∣∣∣∣∣
ϕ=0

= η

{

−
� ϕ

r
+

∂ � ϕ

∂r

}

= ηr
∂Ω

∂r
, �Q/*�?���&T��

$&�JB�����B�$ Ω ≡ �ϕ $&�C3��\5*$,3���-,��B<��B ��� �*=.3��4
�� � �J$,3`-������Y$&� ��=�$ Ω = -&���?	�� � $&�?	�����-&$&��$,3 B�����-&�
B�$2��-,
�$&-,�&!���a
E��	��Y-&�� %� =��F-&=<$,
�Zb�Y
�!# ����B��">(Zb��
�3�� 	����R	��N��� �<�,>7	

E������0K$,
�$&�<-,��� B�$d %�� \$&�R	��
B�$�3�����Z[�4
�	�$&��-&$&�R	

 � 3�$&���<��-,��� 3�����Z[�4
�	�$&� $
� 	�$,
�����
�$&�XB�$,3 B.����-&� �

9;�����
��B<$,
�$& %���X�?=<$,5��� %$&�?	�$ =��7�4���6363��]B<$�B.����-&�]-&���($&�
Zb$&����
�B r � ^X$ $&�
	��d \����$,
 ���[3��d	���
�-��
τ �?=�$2��-,	 !=<�]����@<
�$ 3��]��$&-&-,�&!���F���?	�$,
��<�YB�$d$&��	�$2�4���6363��)3���-�� 36� �4�4B<�(�\=��<�]B.���
	�����-,��� r $&�
	 !�YB<��B<�
Z ��


τ(r) = 2πr × Z × r × ηr
∂Ω

∂r
. �Q/*�?���&S��

� �d	���
�-�� τ(r + B r) ��=�$ �4-,	 !=[�%����@<
�$�3��%��$&-&-,�&!���F$
� 	�$,
��<�2B<$,3 !�4
�$��%B�$,3 �4���6363�� �?=�$ ��$ $&��-&=�$&�?	

E�
� =��<� B.���
	�����-,��� r + B r $&�

e fhgQi1k m�n o;pq r tvu w�x y�z?t {Q|Ky~}6�
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τ(r + B r) ≈ τ(r) +
∂τ(r)

∂r
B r. �Q/*�?�v��M��

9A���)$&�
	��%��$��
� �*=�$ ��=�$�3��d	���
�-�� ��$,	�� ��=�$���-,	 !=<�d����@�
�$�$,3 ���.�6363��Y$&�
	 !�dB[�4B[� Z ��


∂ �
∂t

= τ(r + B r) − τ(r) = 2πηZ
∂

∂r

(
r3 ∂Ω

∂r

)
B r, �Q/*�?�v�.� �

$&�\B�����B�$D� = π
{

(r + B r)2 − r2
}
×Z×ρ � ϕ ≈ πr2Zρ � ϕ B r $&� $,3  %�� \$&�R	������ �*=�3�� 
;B�$,3 �4���6363�� �

^X$��
��=b!# ��=�$

∂ � ϕ

∂t
=

ν

r2

∂

∂r

{

r3 ∂

∂r

( � ϕ

r

)}
, �Q/*�?�v�����

$&�+B�����B�$ ν ≡ η/ρ $&��3�� ��* ' � %�' *-,
�
, ��* � ��� �� � *�� �?� �W�
	�� 
�$,3���-,�&!��� $&� ��=� ]�4 \$&�R	�$2�� 2Zb��
�	����R	�$
Z[=�$&� �� 2Z�36��-�� ��=�$Y3��N5*$,3���-,��B<��B ��� �*=�3�� 
 � ϕ $&�d=��[�)0�=���-,�&!��� B�$]3��"Zb���
��-,�&!��� r �WB�$,3A	
��$& %Zb� t

> B�$"3��a5�����-&���
��B<��B -,���<$& !�4	
��-�� ν �A^���-	��� B<$N��	

E�F0K��
E \� � 3��+$&�
	

�=<-,	�=.
E�FB<$,3CB�����-&� B�$,Zb$&��B�$
0�=�$,
�	�$& \$&�R	�$ B�$ 3��d5�����-&���
��B<��Bb�D_ �4
E�d	�$&�<$,
C=<�<� ��B�$��%-&=<�436�6	�� 	
�65�� B�$ 3��d5�����-&���
��B[�4BJ-,���<$& !�4	
��-����
-��43�-&=.3�$& \����$,3 � �� � � " % , � � � ��� %�#&,�' � ≡ L2/νT =

�
L/ν � $&�]B<����B�$ L � T > � �����]Z[�4
.!�� %$,	��


E���d-�� 
 �4-,	�$,
 !# ��	
��-&��� B�$,3�Z�
���@<3�$& \�(-&=.>R���%B.�� \$&���
������$&�%�����LB�$Y3���� ���6	�=<B � 	
��$& %Z �7>+5*$,3��?-,��B[�4B

E$&�
Zb$&-,	
�65��� %$&�?	�$�� 9;=[�4�<B��	� ∼ 1 $&�R	����<-&$&�d3��)5�����-&���
��B[�4B 	l=�$��R�(=��+Z[�4Zb$,3;�� 2Zb��
�	����R	�$ $&� 3��
B<$&��-,
��6Zb-,�&!���"B.���;!�� %��-��2B�$,3 �<=���B�� �[9;=<����B�� � � 1 �.3�� 5�����-&���
��B<��B7$&�AB�$&�
Z�
E$&-,��� @<3�$ �j$&�
	��2��=�-&$&B�$
-,3��4
E�� \$&�R	�$�Z � 
 � �[=�	l�d�436	��� %$&�?	�$���=.Zb$,
���!���.��-&� �E� 9;=<����B<� � ≥ 103 � $,3 �[=�	l� $&�;	�=.
�@<=.3�$&�?	�� � IA$ �
��=.36	�� �?=�$CZ � 
 ��$,3 -������dB�$CB.����-&����B�$���-,
�$&-,�&!���N$&�)���
	

E��0O!# �
��-��d$,3 �X!=� %$,
�� B�$�IA$,> ����3�B�� R ∼ 1012 �
� �
	�$"
E$&��=.36	���B�� �� 2Z�36��-�� ��=�$($,3 �[=�	l� $&� =�� B.����-&� B�$(��-,
�$&-,�&!��� $&�\��$,5*$,
 �4 \$&�R	�$7	�=�
�@<=.3�$&�?	�� �
��B�$& !����� 3��d5�����-&���
��B[�4Ba��
�B.���<�4
���� ��=�$�Z[=�$&B<�2$&��	�� 
�������-,����B<�\�%B�$��<$
� ������$&��B�$�Z[�4
�	&!# -&=.3�����-��4
 �
�R��B<����$&�"$,3 Z�3����� ]� ���2$&�A3��2-��4=<�����R	�$ B�$�3�� $&�
	

�=<-,	�=.
E� B�$,3 B.����-&� � ^X$ ��$&- ��� �<3��2$
�����
	�$&�<-,���%B�$
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§38. Experimentos de Eötvos, Dicke y Braginsky

� � 3�$,>]B<$���$���	����)B<$� %��5��� 2��$&�?	��%$&��	�� @<3�$&-&$ ��=�$X3�� 0K=�$,
 � � f $&��=��<��0K=<��-,�&!������=�$�B�$,Zb$&��B�$
B�$�3��2Zb���
��-,�&!��� �b3����C5*$,3��?-,��B[�4B<$&��>"$,3`	
��$& 2Zb� � �W�
	��%0K=<$,
	� �d$&�XZ�
���Zb��
�-,�����[� 3 �d3��\��-&$,3�$,
E��-,�&!��� a

� 	

E�,5W!$&�CB�$�=<�<� -&�����
	����?	�$ ��=�$�-��4
E��-,	�$,
�� � �\�43 -&=�$,
�Zb� 363��� \��B<�23�� � ��' � m

ma = f. �Q/�T���� �

_D��
N��	

E�+Z[�4
�	�$���3��+3�$,>sB�$ ��$���	���� B�$ ��
E�,5��6	���-,�&!��� =<�.�65*$,
����43 �<���)B.��-&$ ��=�$73��+
�$,3���-,�&!���
0K=��<-,�����<�43 �j$,3 3���B��\B�$,
�$&- ���2B�$C3��d$&-�� �Q/�T���� � � B�$�3�� 0�=�$,
	�4���.Z<
��?B<=�-,��B<� Zb��
�B����� ]�4�E�4� m1 > m2

> ��=�$���-,	 !=<�2����@�
�$�3�� Z<
��� %$,
E� �<$&��	�!�2B<��B<� Zb��


f = −G
m1m2

|r2 − r1|
̂(r2 − r1), �Q/�T��v���

B�����B�$ r1 > r2 �����)3�����
 �4B����25*$&-,	���
�$&�XB�$�3����  ]������� -&��
�
�$&��Z ���<B.��$&�R	�$&���
�W�(Z�
�����-,�6Z<��� � 3����X ]������� m, m1 > m2 �����N-&��������-&�� %Z�3�$,	��� %$&�?	�$2B.�60�$,
�$&�R	�$&���D^�$ ��-&=�$,
�B��

-&���)3�� 3�$,>)B�$ � $���	����(B�$� %� 5?�� %��$&�R	�� m $&��3�� � ��' � * � � "	��*-��# B�$�3�� Z[�4
�	&!# -&=.3�� �?=<$���$���-&$,3�$,
E�
>20K=<��-,�����<� -&�� %��=<�<��
�$&�����
	�$&��-,��� ��$&�
	�� ��-&$,3�$,
E��-,�&!���b�[IA$&-&=�$,
EB<� ��=�$�3��� ]�����C����$,
�-,���43 ��$�B�$��<��$
-&�� %�2$,3 -&�?-,��$&�?	�$ B�$�3�� ����
� ]� B�$�3�� 0�=�$,
	� � $&�?	

�$�3��%�4-&$,3�$,
 �4-,�&!��� �?=�$�3�� 0K=<$,
	� � Z�
���Zb��
�-,�����<�\�
3�� Z[�4
�	&!# -&=.3��?�D_D��
X��	

E� Z[�4
�	�$���3����  ]������� �?=<$��4Z[�4
�$&-&$&�N$&�"3�� 3�$,>)B�$ � $���	����"B�$�3�� ��
E�,5��6	��4-,�&!���
��$ 363��� ]�4� � ��' ��' .�" � ��* � � ��*-%�� ��# � '�>\��=]0�=���-,�&!��� $&� ��=�$CB<���]3���
E$&�
Z<=�$&�
	�� -&��
�
�$&-,	�� �43b5��43���
 B<$
3��Y0K=<$,
	� ����
E�,5��6	���-,�����<�43 Z�
E�?B�=<-,��B<� Zb��
���=aZ�
�$&��$&�<-,���R� �W��@<=�$&���"Zb$&�����4
 $&� $&�
	���� -&�� \�"=��[�4�
� ��" .
��'�.�" � ��* � � ��*-%�� ��# � ' ��$&�(���<�43��
�.!# �]-&���"3��4��-��4
��R����$,3E!$&-,	

���-����C>Y3�� 3�$,>)B�$�9;��=�3��� @D�

�W�N3��d3�$,>"B�$ ��$���	����7B�$���
E�,5��6	��4-,�&!��� �4Z[�4
�$&-&$&�(3����� ]�4�E�4�XB�$� ]����$,
E� @[���
	����?	�$ �
�� !$,	

���-��?�
�W�L$,0�$&-,	�� � 3��7 \�����NZ[���
�65�� m2(p) �W0K=<��-,�����<�J-&�� \�J=�� Zb��	�$&��-,���43 ��
E�&5?�6	���-,�����<�43�B�$Y3�� � ��' �

e fhgQi1k m�n o;pq r tvu w�x y�z?t {Q|Ky~}6�
< � tvu w�x y���� �v� uvy �v� ��� � {h��� � �4� >
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§40. Gravitación y espacios curvos
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§49. Métrica de Schwarzschild
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§58. Núcleos activos de galaxias

� Z�
�����-,�6Z������ B�$,3 �
� ��3�� � � 3��4����@<��$,
�5���-,������$&��B�$ 3�� �R�43�� � ��� $,3h!# Z�	
��-��(')T*� �h	��� @<��!$&�+-&�������
-,��B[�)-&�� %� � ��9 8�8RT�G � /*9 �*�48(�)U �6
	�*�N� � ��$&- �<��� Zb��
 ��$,
�@b$,
 9A=.
�	
��� 
�$,5*$,3��4
���� ��$�� !=�� ��=��
Z � 3��4@�
 �4� � ' ��� '�*�����!+� � ��� *��+�����
	5�" � �+��6 6+65
 #A
+*+�&�$���&% �&�$��� �+�����+����
���� �+������	 � �')��	��+� # ��*,' ��
 	
�����+

�"� %(
 ����*���
+	 � � �W��	��4����@<��$,
�5���-,������$&�N!��Z�	
��-�������� 0�=�$,
����"��$��*=.��B<���  ]���;Z ��
�9A=.
�	
���A>Y��� 0�=�$��
�����
�[�4��	���$,3 B�$&�E� 
�
���363��dB�$X3���
 �4B����*�4��	

������� )!# �%$&�\3�� B !$&-���B<� B�$�3������&S�G�M � ��-&=[�4�<B�� $,3b	�$& \��B<$ 	
$,	��
$& ]���<����B��"B<$,3 �X!=�-,3�$&�(B�$\-,��$,
�	���� �R�43����������2��$2-&���R5��6
�	
�&!�J$&� =��F	�$& ]�YB�$2 =�- ���"���?	�$,
�!$&� $&�a3��
���
	

E��0O!# �
��-��?�

e4fhgjilk m�n o;pqsrKtvu w�x y�zRtv{Q|Ky~}~�
< � tvu w�x y���� �v� uvy �v����� � {j��� � �4� >



242 VII AGUJEROS NEGROS

Pj�� \$&B.���4	��� %$&�?	�$\B�$&��Z<= !$&� B<$d3�� ��$��*=��<B<� �*=�$,
�
 �Y =<��B.���43 � -,��$&�?	&!# �<-&��� ��=�$2$&�
	�=�5?��$,
���� ��� �
5*��3�=�-,
E��B����X$&� $,3 B�$&���4
�
���363��\B�$X
E��B<�4
�$&�A$&� 3��  2���� ]��-&�� \$&��� �4
����)� ���<�436� � �4
 3�� �<�4	�=.
E�43�$ � � B<$
3��C
E��B.����-,�&!��� - !���� 2��-���$&�20K
�$&-&=�$&��-,�����;B�$A
 �4B���� � � $,>d> ��=�� -&��3�$��R���A$&�%$,3 �X
�=.Zb��B<$ � Zb$,
E��-,������$&�
B�$C3�� ��
� ]��B<� B�$,3DIA$,����� 	 �.��B��%B�$&��-&=.@�
���$,
����)3�� Z�
��� %$,
E� 0�=�$&�R	�$�B.����-,
�$,	��dB<$C
E��B.���2$&� 3�� -&��� �
�
	�$,3���-,�&!���"B�$�9 > �*�?=<�&���W�
	���0K=�$&�?	�$���$�363��� \������>Y$&�YBb!# � 9;> �*��=��A� � ���.� �hUCP
P
�vH�� � >%��� �*=�$C�
��$&��B��
3�� " �
,�*-% .
��#&����*-�N \���A@�
��6363����?	�$ $&�N$,3 -,��$,3�� �

Figura VII.5:
� � �3� ��� � � � � ���1� ������� - ����
��� � �1� �1�����.� � � � � ��� ���1! � � � � � ������� ���
��� 	 � � � - � �� � 	 � � � � � � 
 � �*) � �*� 	�� � � � � � 
� ������� �*� � � ! ������
� ��- � � � ��� � � ��� � ��� � � � �/� 7 � � � ��� � � � 
��! ��� �5�����

� ��� � ����� �*� ���#� � � � � �*� ��� ��� � ��� ����� �8��� � � � � � � � ��� ��� � - � ��� � ��� ��� ��� �*) � �$� 	�� � � ���0� � ! � � � ���2�
� � � � ��������� ��� � � � �*�/���	�/� �	� � � � � � � � � � 
�������8� � %'� � � � � � � ���$� ��� � � ! � 	!�� � � !'� � - � ��� � � ��� ��� � ��� ! � �
� � � ��� � � � � � � �8� ! ��� ��� � � ��� � � � � � ��� ��� ��� ��� ��� � �1� �(�����	� � � � � ��� ��� ) � � � � % - ��� � � ���"� � ��� ��� � �
� � � � � � � � � � � 	 � � � !+�/� � - � � ��� � � � ��� �.) 	 - � � � � � ��� � � ��� �
� ��� � � ��� ��7���� � ����% � � ��- ��� ���
� �

� ! ������� � � � -(��� � � �� � ��� �/��� � � � - � � 
� ��� �/� � � � � ���*� �*� ��- � � � ��� � 7���� � ��� �����.� �	)

_ �4
E�A3��AB !$&-���B<� B<$W3���� �&S�G�M � ����3����`�4��	

�!������ %��� -&�� %$&� � �4
���� �;-&���?5*$&��-&$,
���$ ��=�$ �[� @D!# � ��$�
�<�43�$&�
B�$ ��-,	
�65���B<��BdZb$&-&=.36���4
 $&��3����`-&$&�R	

E��� B<$ 5�� 
����4� �R�43����������&� �W�
	���� �R�43���� ���4� 	�$&�b!# �4�%-&����-&$&�R	

 �4-,�����<$&�
���R	�$&���E�4��B<$�3�=�� ��� =.3 �<@[���
	����?	�$ B.���
	
���?	��%B�$�3��d
E��B.����-,�&!���J-��4
E��-,	�$,
�!# �
	
��-��]
�$&-,�6@<��B<�%B<$ ����
�$��R��B����
B�$�$&��	

�$,363����A> �R����� �?=<$X�����\3����;0�=�$&�?	�$&�A����
� \�43�$&�AB�$�
E��B.����-,�&!���"$&�Y=��[� �R�43��������?� �W3 $&��Z $&-,	

E� B<$
$&�
	�����=�$,5�� 0K=�$&�?	�$�B�$�
E��B.����-,�&!���)Zb����$�!# � $
�.-&$&���dB�$X
E��B.����-,�&!���N� ��=.3 >]=.36	

E�,5�����3�$,	��dZ[�4
E��Z�
�� 5*$&�.�6

����-,3�=���� B�$ 3����� \���X-�� 36��$&�?	�$&� >" \���
�65�����$&�
	

�$,363����&� �W�J�43 �*=�������-��������C��$ $&��-&���?	

�!� ��=�$ ����-,3�=����
3��4�\0�=�$&�R	�$&�YB�$"
E��B.����-,�&!���s$,
E��� 	���� @�
��6363����?	�$&� -&�� %�F3�� �R�43�� � ���  2���� ]�(> �?=�$N5�� 
���� @ �4� -&���

e fhgQi1k m�n o;pq r tvu w�x y�z?t {Q|Ky~}6�
< � tvu w�x y���� �v� uvy �v� ��� � {h��� � �4� >
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���������
A
�&! 	�
C!5�+�+�������� ��*+
���!�32��*&!5
+	 ����	 � ���-6

�.-���*+
 �����&�$# !�' # ����. 
�%(��! ��')� ��	 . 
�! ����	 � ���C�&!��$�
 �&� � ��'��
	
����*���� ���0#�*��&!-�������&! �+��� !�' %(�+�����

�% �����&�0��� #;������
+	 % 
+� ��*+
 ��')�,	�
$#�*��&!-������

p
� ��!�%�����' � ��
 	���	�
+*-. � ����	 � ��� 7 	�
$#�*+�&!������� ����	 . 
�!

�&��' ��
1. 
+	�
 ����
 ����!�%�����' � � 
 % �+������
���')� 	�
 ����!���
�������
 
5	��+�&�$��*+� ��� 	�
C%���!�% 
1!+� ������*+�&%(�&�0��
 8 6
, ' # ��� ���&����� � ')�C��	,�" �������+� # ��	
� ��* ���#����+� �&!

κ = 5/3
# �&! �"�+���
* #A��	 . 
�!,�&! %(��� � 
 �0���% ���+� �&�0�������+�&!

ρ ∝ A−1 � −1 ∝ p3/5 6
7 � z/8 � ')�&!���*�
 �+��� �&!���� � ')�C��	>� �' % ��*+� ��� � 
2�1-

M ∝ p−4/5A−1 � ��')� � ∝ p−3/5A−1

7 � zVz/8 � ����!���* ' � ��' ��
(. * �
 � �+
	��')�(���&!+��*����)
 
+	 �
+*+�+
 �+��% � ��' � �������� ����	�
 # *+�&!-������ � %(')�&!���*�

� ')�0#A
�!5
$# ��* ' � % �" ����%(� � ' !���
�% �&�$��� �&� ��������� ��	�. 
�! ���&�0��*+� �"��	 � ����!5� �+���03�����*���� �&���*+
���! ���� ���+� 7 #A
�!5
 �"� !�' � ! ���� ���+� 
 !�' # ��*&! ��������+� 8 6 �C� �&!���
 %(
�����*�
�# #A
+*+
	��')����	 � ��� !5��+���$3 ����*���
 �&� ! ' # ��*&! ���� ���+� �����&��� � ')� #A
�!5
+* # ��* ��	 -&� ��$,	�$(-&���R5*$,
��*$&�?	�$ �?B.�65R$,
	�*$��R	E$+B�$
� �,5�� 3 6 � !���� ��� # ���"� �+��� � .$'�*+
��������� �&! 	�
 � '�� !+� �����&���(�&� 	�
�!(��'�* ������
�! ��� 	���!4. *+
������&!
�+� -������&! ��')� 3 ��
 � 
���
+	��&!%# 
2������6

_W=�$&B�$  %���
	

 � 
E��$ ��=�$ $&�"3��2Z[�4
�	�$ ��=.@<�.!���.��-��\B�$,3��<=�	
� �[3��2Z�
�$&�
�&!���(>)3��%B�$&���
��B[�4B7�����( \���
�( %$&�<��� -&������	��4�?	�$&�&� � �+3��"Z[�4
�	�$]��=.Zb$,
��.!������-��)3��)5*$,3��?-,��B<��B $&�  ]��� �( %$&�<��� -&������	��4�?	�$�� B�$
�
��=b!# ��=�$�-&��� 3��d %$&�<-,�����<��B��%�4
�
��6@[� A ∝ � −3/5 �<9;�� \� �E� @b$& \�����?3�� B�$&�<�
��B<��B)>\3���Z<
�$&�
�&!���)$&�
3�����
E���  ]�,>*��
�!# �dB�$X3���� �R�43�� � ������$&��-�� 3�� -&�� \� 1/r2 �.^X$C$&�
	��  \����$,
 ��� $,3�!��� �*=.3�� ��=�$C��=.@<	
��$&��B�$
$,3 	l$,	X-&���"$,3D�X!=<-,3�$&�\$&� A1/2r−1 ∝ r−2/5 �

9;��� $&�
	�� ��$& %���` \���
	

E��B�� �?=�$ Z[�4
E��-&��36�� \�4
 =<� 	
$,	W$&�W��$&-&$&���4
���� ��=�$;��= Z�
�$&�
�&!���dB����� 2����=.>R�
-&���F3��\B����
	�����-,��� � ����B<$,Z $&�<B.��$&�R	�$& \$&�R	�$YB�$ 3��]$
� Z[�����
�&!��� �?=�$d$&��	�$d 2���� \�\363�$,5�� $&�F��=J��$&-&-,�&!���
	

 �4�<�
5*$,
����43`B�$7!�4
�$�� A �

_ �4
E���<��-&$,
�=��]	

E�4	��� 2��$&�?	��d
�$,3��4	
�65?����	��d$&�Y$,3 �[=�	l� B�$,3 	
$,	���-&�����
��B�$,
�$& \���A=��]Z�3����� \� =.36	

E� �

E$,3�� 	
�65����
	��YB�$ 	��43`0K��
� ]� �?=<$ ��=($&-&=<��-,�&!���FB�$ $&�
	���B��]$&�
	R!$ B<��B<�dZb��
 p = e/3 ∝ n4/3 �[$&�CB�$&-,�6

$,3 !# ��B.��-&$ Z ��36�6	

<!��Z���-&�Y$&� κ = 4/3 �

Tarea 23

7 z/8 �����
	
����
������(��	 -��+�1-�� �"����')�C��	 32�+������* ��� �A' � � ���C�&� ��*-. �" 
 7 �&� ��*-. �" 
 # ��* ' � ����
�� ��� �
+*+�+

#���* ' � ����
�� ��� �����&%$# � 8 �&!

cT0α #A�������"�
c
�&!�	�
 32��	��)������
�� ��� 	�
 	 ' � � Tkm �&!C��	 ���&��!5��*

e4fhgjilk m�n o;pqsrKtvu w�x y�zRtv{Q|Ky~}~�
< � tvu w�x y���� �v� uvy �v����� � {j��� � �4� >



252 VII AGUJEROS NEGROS

���,�&����*�. �" 
 &�% ��%(�&�0���2#>%(')�&!���*+
�� '�� 	�
C	 ' % ������!-����
��
L

#�')�+���C�&!5��*������
*&!+�C�+��%(�

L = 4pγ2 � A, �QG.���vG��
���������

γ
�&!1��	 � 
�������*,��� 
 ��*+�&�$� � #A
+*+
,	�
 32��	��)������
��

�
6

7 z z
8 �����
	
����
����"� 	�
�!,�+��%$# �����&�0���&!C�&! #A
�����
5	��&!4�"��	 ���&��!5��* ���,�&����*�. �" 
 %(��% �&�$���
Tαβ

7 ��	;���&��!5��*
���,�&! � ')��*&� ��! 8 %(')�&!���*+
���')� 	�
�� ')��*&� 
 ��')�+# *+� ��')�+�,��	 � ��� �&!��$�
 �"
2�"
.#���*

F = TxxA =
{
4γ2 � 2/c

2 + 1
}

pA �QG.��� � �

7 z zVz�8 �C�4%(
�����*�
 !-��% �
	�
5* 
 	�
 ��')� % ��!���*+
�%(��! 	�
 �+� '�
2�������� ��� �+���0������'�����
�� �&� ��	��+
+!+� *+��	�

���� 3���!���
�#>%(')�&!���*+
���')�,��	A� �' % ��*+� ���+#A
+*��2�" � '�	�
�! # ��*C' � ���"
2��� �����&%(#��

�n
�&!,�+����!5��*�3�
����

�n = nγ � A =
�+���"!��

‘. �QG.���vT��
� !���
�*+��	�
��������� �&!���3������&�0���&%(�&�0��� ' ��
E�+����!+�+� ')�&������
 ���
*+�+����
 �"�>	�
E�+� ')
��������� �����+���0�����0' ����
��
#A
+*+
 ��	 �+
�!5�4*+��	�
 ��� 3���!���
 6

7 z�� 8 �����
	
����
����"� 	�
,�+��6 �QG.���vG�� � 	�
 �+��6 �QG.���vT�� % '��&!���*+
E	�
�!5�+�+�����������*+
���!�32��*&!+
5	 ����	 � ��� � ' %(#�	�� �+���

A ∝ γ2/ � , �QG.���vS��

� ��')� ��	 % �" � ��%(�(�"� �&!���
 �
+*+�+
�!�')�+�+��� #A
+*+
 ��	 #�' �0��� ��*+
���! ���� ���+�(�&� ��	;� ')
+	
� = c/

√
3
#

� '��,�&! ��	 3�
+	���*C�"� 	�
 32��	�� �����"
2� �"��	 !5��� ���"�0#A
+*+
 � ' � ��! *���	�
 ��� 3 ��!���
�!�6

�W�
	�� $&�A3��  ]����$,
E�  \������$&�<-,�6363��2B�$C5*$,
X-&�� %�d0�=���-,�����<�2=�� 	
$,	A
�$,3��4	
�65?���
	��?� �`5���B�$&�?	�$& %$&�?	�$
�<�,>\ =�- �<���;�� 2���
������$&�A$&�]$&�
	�$C���;!� 36�������&� _ ��
A$ 	l$& %Z�3�� � 	�=.
�@<=.3�$&�<-,��� B<$&�R	

�� B�$,3b 2���� %��-���=�����B<�
Z ��
 $,3 �4
�
 �4��	

�$�$&�?	

�$ 3���� Z[�4
�$&B�$&� B�$,3�	l$,	 >2��=% \$&B.��� �4 @���$&�?	�$CB�$,@b$���-&=.
�
��6
 ������B<��� B�$ - ��� ��=�$
���R	�$,
��[�4� � 3  %���� %�]�����7Z�
E��@[�4@�3�$& %$&�?	�$ �*$&��$,
E��B<���&� ��B�$& !����B�$,@b$ $
������	
�6
�Zb$,
�B.��B<�\B�$ $&��$,
��.!# �
Z ��
�
 �4B����4-,�&!��� $&�F$,3WZ�3����� ]�?� �����F$& @[�4
��*� � ��=.� � !����3��] \�&>*��
 �� 2�����&!���+�%	��?B�� $&��	�$%���;!� 36������� $&�
$,3 ��$&- ���+B<$ ��=�$"$&�
	���� 	
$,	��\����� �<=�	
�����.��B.
��� ]� �*� !$,	
��-&����� �W�%B<$&-,�6
 � 3����]-��� 2Zb���] \���*� !$,	
��-&���
�4 ]�4
�
E��B���� �43DZ<3��4�� \� B�$,3 	l$,	 B<$,@ $&�N��$,
 -��4Z[��-&$&�XB�$�$&�.0��?-��4
�>]-&��36�� ]� 
��43 	
$,	&�

e fhgQi1k m�n o;pq r tvu w�x y�z?t {Q|Ky~}6�
< � tvu w�x y���� �v� uvy �v� ��� � {h��� � �4� >
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R(t) ∝ $
��Z (Ω1/2

Λ H0t). �O����� 8 �

^�$]$&�
	��" \����$,
E�"$&��Zb���
�6@�3�$ � �<�<�4
 3��)����3�=�-,�&!���LB�$\	��43; ]����$,
E����=�$]��$2Z[=�$&B<�"	�$&��$,
d-&���R	���-,	��
-��4=<���43 $&�?	

�$ B����
	
���R	���� 
�$���������$&��� � ��$
��Z[�������&!���]$
� Zb����$&��-,���43 
�$&��=�$,365*$C$,3[Z�
���@�3�$& ]�CB�$ �4Z�3����<��B��
B�$  ]����$,
E�d��@�5?���?� � �D���.��-,���43� %$&�?	�$%$,3`
E��B.���]B�$ -&=.
�5��4	�=.
E�%	�$&�b!# �\=<�"5��43���
�B.���
	
���?	�� B�$ ��� �<�.�6	�� �
$,3b
.!� Z<��B��%-,
�$&-,�� %��$&�R	��]B�$,3 =����65*$,
����2��$�$&�<-�� 
	�R� B�$��4Z�3����<�4
 >\��=<�,5�� � �4
�3��\B<$�	��43D ]����$,
E� �?=<$C3��
-&=.
�5�� 	�=�
E�dB�$,3D=<�.�65*$,
����\��$�� �?=�3��R�

�`3 ��
E��� Z�
���@<3�$& \� �?=<$\Z<
�$&��$&�?	��(3��"��� �[��-,�&!��� $&�d$,3 ��$&- ���JB�$ �?=<$ $,3�=��.�65*$,
����a��$��"-��4Z[� �
B�$%��=�Z $,
 �?$&�.0 
���� 
E��$\B<$%	��43; \����$,
E� �?=�$\3��)B<$&���
��B<��B B�$] \����� �j$&�  \�4	�$,
����"����-&=.
E�)>F5����
�6@�3�$ �
��$��d3��\B��� 2���[�4�?	�$ $&�7$,3`=<�.�65*$,
���� ��-,	�=<�43h�D^X$���$&- ���]3��20h����$ B�$ -,
E$&-,�� 2��$&�?	��)$
��Zb����$&�<-,��� 3 B�$,@b$
	�$,
� 2���<�4
2�4@�
�=.Z<	��4 \$&�R	�$]Z[�4
E� ��=�$\$
� ���
	��(=�� 
�$&-��43�$&�?	��4 %��$&�R	��+B�$,3A=��.�65*$,
����F� 	�$& 2Zb$,
E�4	�=.
 �4�
��= �<-,��$&�?	�$&�XZ[�4
E� �
���R	�$,	
� �4� 
C@[�4
������<$&�&�

� -,	�=<�43� \$&�R	�$�5��4
�������	�$&��
 !# ��� 0��,5*��
E$&-&$&�(� 3�� �����[��-,�&!���"-�� !��	
��-��?� �W� $&�
	�$� %��B�$,3��d�����<�&>Y=<�<�
�
��� �*=.3��4
���B<��B ���.��-,���43 B�$,3�=����65*$,
����L�
�� %Z�3�$�� _ ��
)$,3�-&���R	

E�4
���� ��$,3C=<�.�65*$,
���� Z[=�$&B�$7$
��	�$&�<B�$,
���$
 =<-	�b!# �
�� \�) \�����,>R�YB�$ 3���� 10 − 20  2�63W %�6363�����$&��B�$ � 
����� ��=�$ Z�
�$&��$&�?	��]$,3`
E��B.��� B�$ ��=.@�@<3�$��
_D��-&�N�\Zb�?-&� � �?=�$,5���� �R�43���� ���4� >7��@�	
$,	���� �4Z[�4
�$&-&$,
.!��� B�$&�?	

��"B<$,3 
E��B.���)B�$\��=.@�@<3�$\�] %$&B.��B[�
�?=�$ $,3 
E$,3��
	 �?=<$  %��B�$�$,3 	
��$& 2Zb�\- !���� 2��-&�Y�,5������4�R�b^X$ ��$&- ���\3�� ��=�$ ���<��
E� 363��� \�� %���C��=�$&�
	

��
=��.�65*$,
�����Z<=�$&B<$ @���$&� ��$,
 Z[�4
�	�$ B<$ =�� $&������ @�3�$  ]��� ��
E����B�$ B�$ =<� -,��-,3��X
�$,Z�
E�?B�=<-,	
�65*�X$,	�$,
E����B<$
B.���
	
���?	���� =��.�65*$,
E�����&� 9A��B<��=���� B�$C$&�
	����A=����65*$,
���������� ��$C$&��-&=<$&�R	

E���)-���=��E� 3� \$&�R	�$�-&����$&-,	���B����
$&�)3��a!$,Zb�?-��dZ�
�$&��$&�?	�$��[�
���N$& @[�4
��*�2Z�
E��5���$&��$&�7B�$�=��(�4�<-&$&�
	

��%-&�� !=��b� �W�N-���B<�d=����%B�$�$&�
	����
=��.�65*$,
������ 3��\0K��
E \�\$&�J3�� �?=<$2��$ 363�$,5�� 
E��� ��-��4@b� 3�����
��� %Z��� 2��$&�?	���� $&��Z ���?	 !����$&��� B�$d�
�� %$,	

 !# �
Z<=�B�� �<�4@b$,
���$C363�$,5���B��%B<$�B.���
	
���?	��d \����$,
E� >Y����3��� %$&�?	�$�$&�"�43 �*=��<�2B�$�$,363���� �j-&�� %�d$,3 ��=�$&�
	

�� �
3�� 01!# ����-��"��$\ \���.���<$&��	��)-&�� %�"3��YZb$,
�-,�6@��� \���&� � ��Zb��
 $&��	�� ��=�$%3�� 5?��B<�"��$%��
�� �������7$&�+��=�$&�
	

��
�
���
	�$& \�"����3��4
�� �W�
	��(B<� 3�=��R� 
%�43 0��� \����� � "�* � ��* � *-% ��� � " �% � *�� % ��=�$]B.��-&$ �?=�$\3���� 3�$,>*$&�2B�$\3��
0O!# �
��-��"����� 	
=��
	��� %$&�?	�$%-&�� \�)B�$,@b$&�aB<$2��$,
 �D$&��B�$&-,�6
 � $&��	�!��� ��$&- �<��� -&���a	�� 3 Z�
�$&-,���
�&!��� ��=�$2=��
 %��5��� 2��$&�?	��  )!# �.�� \�aB�$ 3����] 2���� ]���d�� 2Zb$&B.�6
�!# ��� 3��J$
� ���
	�$&��-,���+B�$ 5�� 
������]��@ 	l$,	����\0O!# �
��-&��� $&�
$,3�=��.�65*$,
���� � -&�� \�(3��"5���B<� ��=� \���<�?� �W�
	��7$&� 	���B��7=�� 	�$& \�N-&��� �� 2Z�36��-���-,������$&�Y-,��$,
�	��� %$&�?	�$
��$,5*$,
E������Zb$,
�� ��-,	�=<�43� %$&�?	�$ �<�+
�$&�[�4-,��B<�L-&��� �W!=��  ]�4�]0�=�$,
	� �+$&�
	�$7Z�
�����-,�6Z���� ��
 �4-,�����(�a3����
��@<��$,
�5���-,������$&����$&-	�<���X-&���"��=�Z $,
E����5�����$&� �R� 3���� ������B.���
	����R	�$&���

e fhgQi1k m�n o;pq r tvu w�x y�z?t {Q|Ky~}6�
< � tvu w�x y���� �v� uvy �v� ��� � {h��� � �4� >
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